
Sn Question Option 1 Option 2 Option 3 Option 4

1

Name the agroclimatic zone of Rajasthan where "Queen of 

cereals" is extensively grown in rabi season :-

Flood prone eastern Plain 

(III b)

Humid southern Plain (IV 

b)

Humid South eastern 

Plain (V)

Irrigated north western 

plain (I b)

2 Hindi name of "Brassica Juncea " is :- Raya Toria Kali Sarson Peeli Sarson

3

Rock phosphate deposits are abundantly found in _____ 

district of Rajasthan :- Nagaur Bikaner Barmer Udaipur

4

In which of the following agro-climatic zones of India, 

Punjab and Haryana falls ? Transgangetic Plain region

Upper gangetic plain 

region

Middle gangetic plain 

region Lower gangetic plain region

5 World Soil day is celebrated every year on :- 5th December 12th December 26th December 30th December

6

Weather element that is not correctly matched with its 

measuring unit :- Temperature - °C Relative humidity - % Cloud cover - Hours

Atmospheric pressure - 

Millibars

7

The base temperature of maize for calculating growing 

degree days is :- 10  °C 4.5  °C 8 °C 12  °C

8

Headquaters of World Meteorogical Organization is located 

at :- Geneva Paris Washington Rome

9

What will be the gross irrigation requirement of a field 

having net irrigation requirement 400 mm and field 

irrigation efficiency 80% ? 300 mm 400 mm 500 mm 700 mm

10

As per CSSRI, Karnal, Classification of irrigation water boron 

content of normal water should be :- Less than 3 ppm 3 to 4 ppm 4 to 5 ppm 5 to 10 ppm

11

The commonly used pan coefficent value in 

evapotranspiration study is :- 0.7 1.7 2.7 3.7

12

The ratio between the irrigated area and volume of water 

applied is known as :- Delta of Water Duty of Water Base of Water Water course

13

If a crop is to be irrigated at 0.6 IW/CPE ratio with 6 cm 

depth, it should be given at CPE value of :- 10 mm 60 mm 600 mm 100 mm

14 One hectare meter is equal to :- 100 m³ water 1,000 m³ water 10,000 m³ water 100,000 m³ water

15

Among different soil textural classes, which is an ideal one 

for most of the crops ? Sandy Clayey Loamy Silty

16 Nitrogen content of Sulphur coated urea ranges between :- 26% - 28% 36% - 37% 40% - 42% 46% - 48%

17

Nutrient element acts as "energy currency" within plants is 

:- calcium Potassium Phosphorus Nitrogen

18

Nutrient deficiency responsible for heart rot in sugarbeet is 

:- Molybdenum Copper Zinc Boron

19 Sea weed "a marine algae" is used as "- Herbicide Fertilizer Insecticide Fungicide

20 Orobanche a parasitic weed is classified as :- Holo stem parasitic weed Hemi root parasitic weed Holo root parasitic weed Hemi stem parasitic weed

21

Quantity of Solaro  50 WP for 2 hectares maize to supply 

atrazine at 0.75 kg/ha :- 0.5 Kg 3.0 Kg 1.5 Kg 0.75 Kg

22

Which one among the following weeds is a board leaved 

monocotyledon ? Avena fatua Phalaris minor Spergulla arvensis Commelina spp.

23

"Brown manuring" a recent approach towards weed control 

is practiced is :- Maize Direct seeded rice Mustard Pigeonpea

24

What will be the weed control efficiency (%) if weed dry 

matter in weety check is 30 quintals and is treated plot it is 

15 quintals/ha ? 15 30 45 50

25

If a soil has bulk density 1.5 Mg/m³
  
and particle density 2.5 

Mg/m³,  what will be the percent porosity of soil ? 30% 40% 50% 60%

26

In which district, Indian Institute of Farming Systems 

Research (IIFSR) is situated :- Jhansi Meerut Ghaziabad Sholapur

27

Which among the following indicators is used to assess the 

inter cropping  system ? Leaf area index Light use efficiency Land equivalent ratio Sustainability index

28 The unit of relative growth rate (RGR) of any crop is :- g/m² (leaf area)/ day g/g /day g/m² (land area)/ day g /day

29 A rapid growing phase of plant is termed as :- Lag Phase Senescence Plateau Phase Log phase

30 select incorrect match from the following :-

For good crop growth - 

apply N Fertilizer

For correcting "top 

sickness" of tabacco - 

apply B Fertilizer

For quality produce - 

apply K Fartilizer

For correcting yellowing in 

groudnut - apply Zn 

Fertilizer

31

Which one of the following crops is more tolerant to 

Sodicity ? Sorghum Groundnut Rice Mustard

32 Soybean is originated from which country ? China India Brazil Mexico

33

Select the correct combination of a crop variety and its 

1000 grain weight :- Wheat (HI 8498) - 35 g Gram (KAK -2) - 380 g

French bean (Udai) - 

500 g Groundnut (TAG -24) - 250 g

34

What quality of sulphuric acid is required to spray 1000 

liters of water in one hectare to control frost in rabi crops ? 100 ml 500 ml 1000 ml 1500 ml
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35

The optimum temerature range for ideal germination of 

Wheat seed is :- 5-10 °C 10-15 °C 20-25 °C 30-35 °C

36

Which one among the following crops is known as "Queen 

of oilseeds" ? Soybean Mustard Sunflower Sesame

37

For good quality tabacco, chloride content in leaves should 

never exceed :- 2% 3% 4% 5%

38

For delinting 10 Kg fuzzy cottonseed, industrial grade 

sulphurid acid required is :- 500 ml 1000 ml 1500 ml 2000 ml

39 Red rot is an important disease of this crop :- Potato Sugarbeet Sugarcane Maize

40

The oil of _____ crop is extensively used in paints and 

varnish industry :- Sesame Safflower Ratanjot Linseed

41

Quantity of seed required for one hectare area of a crop, if 

plant population per hectare is 50,000, test weight 200 g 

and real value of seed is 100 per cent :- 10 Kg 20 Kg 30 Kg 40 Kg

42 The coefficient of variation (CV%) is calculated by formula :-

(Mean/Standard Deviation) 

X 100

(Standard 

Deviation/Mean) X 100

Standard 

Deviation/Mean Mean/Standard Deviation

43 Size of mini watershed varies between :- 10,000 - 50,000 hectares 1000 - 10,000 hectares 100 - 1000 hectares 10 - 100 hectares

44 Fumigation of rat burrows in the field is done by :- Zinc Phosphide Aluminium Phosphide Zinc Sulphate Zinc Phosphate

45 Jakham dam is situated in which district of Rajasthan :- Jaipur Tonk Dausa Pratapgarh

46

Agriculture is not merely growing crop but more of applied 

:- Ecosystem Environment Ecology Climate

47

We are growing wheat in plains in winter and high hills in 

summer due to :- Height Temperature Scenic beauty Crop rotation

48 Rainfall in hills is more towards :- Windward side Leeward side Both Side Either Side

49 Soils in foot hills are :- Matured Immatured Fully mature None of these

50 Well drained volcanic soils are :- More fertile Less fertile Non fertile Useless

51

Threshold temperature refers to the point at which a 

stimulus begins to :- No response Partial response Full response bring a response

52 In slopy lands most suitable irrigation method is :- Drip Check basin Sprinkler Surface flood

53 Objective of zero tillage is :- To control soil run off To check water run off

To control water 

percolation

To control soil erosion and 

allow aggregation

54 Climate change means :-

Diurnal changes in weather 

parameters

Weekly changes in 

weather parameters

Monthly changes in 

weather parameters

Long term (more than 30 

years) changes in weather 

parameters

55 Green house effect is related to :- Rise in temperature Rise in rainfall Rise in precipitation Rainfall delay

56 Role of abscisic acid in plants is :- Increase in growth Growth retardation Cell elongation More branching

57 Application of cycocel leads to :-

Retardation of vegetative 

growth Retardation of fruiting Retardation of flowering Check rooting

58 Relative growth rate of plants is :- More yield with time Yield with time More growth with time Growth with per unit time.

59 Highest density of water is at the temperature of ___ °C 0.0 2.0 4.0 8.0

60 The temperature range of stratosphere is :- -10 to -19 °C -45 to -75 °C -60 to -85 °C -80 to -95 °C

61

C₃ plants saturate light upto 40,000 to 50,000 Lux while C₄  

plants :- 50,000-60,000 60,000-70,000 70,000-80,000 90,000-100,000

62

Fresh water bodies including rivers and streams are known 

as :- Lentic Lacustrine Lotic or riverine Palustrine

63 The pungency and odour in onion is due to :- Nitrogen Phosphorus Potassium Sulphur

64

According to the essentiality criteria of nutrients which one 

is correct (without it) :-

Plant can not complete life 

cycle

Plant can complete life 

cycle Plant can not grow Plant can grow very well

65 Free living N-fixers are :- Rhizobia Azotobactor Azospirillum

Azotobactor & Azospirillum 

Both

66

Phosphorus availability in soil increases with increase in pH 

:- >8.0 >8.2 >8.4 >8.5

67 P fixation in acid soil starts below the pH :- 7.0 7.5 6.5 3.5

68 Soil moisture could be measured by :- Picnometer Moisture meter Gravimetry method

Moisture meter & 

Gravimetry method Both

69

Micro nutriant use efficiancey is more when these are 

applied :- Through sprinkler Foliar spray Soil application Through drip irrigation

70 Largest area under micro irrigartion is in the state of :- Bihar U.P. Rajasthan Kerala

71 Most salinity tolerant crop among the seed spices is :- Coriander Cumin Fennel Fenugreek

72 Saline soils could be improved by :- Leaching Gypsum application Pyrite application Sulphur application

73 Example of narrow leaf weed is :- Amaranthus Argemone Phalaris Chenopodium

74 Viability of weed seed like lotus remains for :- 10 Years 100 Years 1000 Years None of these

75 Which one is not a systemic herbicide :- Atrazine Simazine Propanil Paraquat

76 Which is not a phenoxy group of herbicide ? 2,4 - D 2,4 - DB MCPA 2,3,6 TBA



77 Post-emergence herbicide is used :- Before germination of crop

Before germination of 

weed

After germination of 

crop After germination weed

78

Application of 2,4-D Na Salt may be avoided in the 

following type of soil to reduce leaching loss :- Sandy Sandy clay loam Clay loam Clayey

79

Which cropping system accommodate maximum crops in a 

piece of land within specified time :- Mixed cropping Relay cropping

Mixed cropping & Inter 

cropping Inter cropping

80

Dryfarming means cultivation of crops where rainfall is less 

than :- 550 mm 650 mm 750 mm 850 mm

81

Under moisture stress in plant, concentration of 

photosynthetic assimilates :- Decreases Increases Remains constant As usual

82 Escaping drought by the crops means :-

Matures within the rainfall 

period Germinate early Matures late Matures after rain

83

Under drought conditions, in awned varieties, awns 

contribute photosynthates about :- 12% 10% 20% 50%

84 Water infiltration in soil means :- Water movement in soil Water enters in soil Percolation Leaching

85 Pratap (C-50) is the variety of crop :- Wheat Sesamum Dill Maize

86 Most adaptive crop under moisture limited condition is :- Rice Maize Wheat Sesamum

87

When field varies in fertility which experimental design is 

appropriate ? CRD RBD Split plot Paired row

88

For the multi factor study which experimental design is 

more appropriate ? BRD RBD CRD Split Plot

89

Dependency of one factor on other could be calculated by 

appropriate method  :- Student T test Mean Correlation Harmonic Mean

90 India is divided in how many Agroecosubregions :- 20 30 50 60

91

Based on the recent estimates, Bikaner and Jaisalmer are 

delineated in the Agroclimatic Zone of :- I A II A I C II C

92 Delta in irrigation is measured in which unit ? cm Hours Cusec Liter/Second/ha.

93

Study of desert and dry land management is studied under 

:- Ecology Dry land farming Xerophic Science Eremology

94 Threshold wind velocity for chemical spray in field crops is :- < 1 km/h < 2 km/h < 3 km/h < 4 km/h

95 Mallika is variety of which crop ? Khejari Babool Groundnut Black gram

96 Weed index is calculated as :-

[ (crop yield of weed free 

plot - crop yield of treated 

plot) / (Crop yield of weed 

free plot ) ] X 100

[ (crop yield of weed free 

plot - crop yield of treated 

plot) / (crop yield of 

treated plot) ] X 100

[ (Weed dry matter 

production in treated 

plot - weed dry matter 

production in weed 

free plot) / (Weed dry 

matter production in 

treated plot) ]  X 100

[ (Weed dry matter 

production in treated plot - 

weed dry matter 

production in weed free 

plot) / (weed dry matter 

production in weed free 

plot) ]  X 100

97

All India severe drought year is declared when spatial 

coverage of drought is more than :- 20% 40% 60% 80%

98 Celiec disease in human being is caused by :- Gluten allergy Tryptophane Allergy Lycine Allergy Zein Allergy

99 Which type of corn comes under primitive type ? Flint corn Sweet corn Pod corn Waxy corn

100

Which type of N fertilizers should be avoided in paddy crop 

? Nitrate Ammonical Amide Cynamide

Sn Question Option 1 Option 2 Option 3 Option 4

1

याजस्थान के सस्म जरवामु खॊड का नाभ जहाॉ "धान्म 
पसरों की यानी" को यफी के भौसभ भें व्माऩक रूऩ से 
उगामा जाता है :-

फाढ़ सॊबाव्म ऩूवी भैदान (III 

फ) आर्द्रदक्षऺणी भैदान (IV फ)

आर्द्रदक्षऺणी ऩूवी भैदान 
(V)

ससॊचित उत्तय-ऩश्चिभी भैदान 
(I फ)

2 ब्रेससका जश्न्समा का हहन्दी नाभ है :- यामा तोरयमा कारी सयसों ऩीरी सयसों

3

याजस्थान के ______ श्जरे भें यॉ‌‌‌‌क पॉस्पेट ननऺेऩ फहुरता 
भें जभा है :- नागौय फीकानेय फाड़भेय उदमऩुय

4

बायत के ननम्न भें से ककस सस्म जरवामु खॊड भें ऩॊजाफ 
औय हरयमाणा आत ेहैं ? गॊगा ऩाय भैदानी ऺेत्र गॊगा का ऊऩयी भैदान ऺेत्र

गॊगा का भध्म भैदान 
ऺेत्र गॊगा का ननिरा भैदान ऺेत्र

5 प्रनत वर्र ववचव भदृा हदवस भनाते हैं :- 5 हदसम्फय को 12 हदसम्फय को 26 हदसम्फय को 30 हदसम्फय को

6

भौसभ का वह अवमव जो कक उसके नाऩने की इकाई से 
मथोचित नहीॊ सभरता है :- ताऩक्रभ -  ° से साऩेऺ आर्द्रता - % भेघ आवयण - घॊटे वामुभॊडरीम दाफ - सभरीफासर

7

भक्का की वधरन कोहट हदवस की गणना के सरए आधाय 
ताऩभान है :- 10  °C 4.5  °C 8 °C 12  °C

8 ववचव भौसभ ववऻान सॊगठन का भुख्मारम श्स्थत है :- श्जनेवा ऩेरयस वास ॊगटन योभ

9

महद ककसी खेत की  ुद्ध जर भाॊग 400 सभ.भी. औय प्रऺेत्र 
ससॊिाई दऺता 80 प्रनत त है तो सकर जर भाॊग क्मा होगी 
? 300 mm 400 mm 500 mm 700 mm

10

CSSRI , कयनार के ससॊिाई जर वगीकयण अनुसाय साभान्म 
जर भें फोयोन की भात्रा होनी िाहहए :- 3 ppm से कभ 3 से 4 ppm 4 से 5 ppm 5 से 10 ppm



11

वाष्ऩन - वाष्ऩोत्सजरन अध्ममन हेत ुसाधायणतमा ऩात्र 
गुणाॊक भान का उऩमोग ककमा जाता है :- 0.7 1.7 2.7 3.7

12

ससॊचित ऺेत्र औय प्रमुक्त ककमे गए जर के फीि अनुऩात को 
कहते है :- त्रत्रकोण जर जर भान आधाय जर जर प्रवाह

13

महद ककसी पसर को 0.6 IW/CPE अनुऩात ऩय 6 cm गहयाई 
तक ससॊिाई कयत ेहै, तो इसे सॊिमी ऩात्र वाष्ऩन भान ऩय 
देत ेहै :- 10 mm 60 mm 600 mm 100 mm

14 एक हैक्टेमय भीटय के तुल्म है :- 100 m³ ऩानी 1,000 m³ ऩानी 10,000 m³ ऩानी 100,000 m³ ऩानी

15

ववसबन्न भदृा गठन वगों भें से कौनसा भदृा वगर अचधकाॉ  
पसरों  के सरए आद र है ? येतीरी भवृत्तकाभम दभुटी सादभम

16

गॊधक रेवऩत मूरयमा भें नत्रजन का अॊ  इसके फीि येंज 
कयता है :- 26% - 28% 36% - 37% 40% - 42% 46% - 48%

17

ऩौधों भें "उजार प्रिरन" के रूऩ भें कामर कयने वारा ऩौर्क 
तत्त्व है :- कैश्ल्समभ ऩोटेस मभ फ़ॉस्फ़ोयस नत्रजन

18 िकुन्दय भें "हाटर योट" के सरए उत्तयदामी ऩोर्क तत्त्व है :- भोरीब्डनेभ कॉऩय श्जॊक फोयोन

19

सभुर्द्ी तणृक " एक साभुर्द्  ैवार" ककस की तयह उऩमोग 
कयत ेहै :-  ाकना ी उवरयक कीटना ी पपूॊ दना ी

20 ओयोफेंकी एक ऩयजीवी खयऩतवाय के रूऩ भें वगीकृत है :-

ऩूणर स्तॊब ऩयजीवी 
खयऩतवाय

अधर जड़ ऩयजीवी 
खयऩतवाय

ऩूणर जड़ ऩयजीवी 
खयऩतवाय

अधर स्तॊब ऩयजीवी 
खयऩतवाय

21

भक्का भें 0.75 kg एट्राजीन प्रनत हेक्टेमय की दय से आऩूनत र 
हेत ु2 हेक्टेमय के सरए सोरायो 50 डब्ल्मू ऩी. की भात्रा :- 0.5 Kg 3.0 Kg 1.5 Kg 0.75 Kg

22

ननम्नाॊककत खयऩतवायों भें कौनसा िौड़ी ऩत्ती वारा एक फीज 
ऩत्री खयऩतवाय है ? एवेना पटुआ पेरेरयस भाइनय स्ऩयगुरा आवेश्न्सस कोभेरीना स्ऩेसीज

23

खयऩतवायो के ननमॊत्रण हेत ु" ब्राउन भेन्मुरयॊग"  एक नमी 
ववचध, ____ की पसर भें अऩनाई जाती है :- भक्का धान की सीधी फुवाई सयसों अयहय

24

महद खयऩतवाय मुक्त बूखण्ड भें खयऩतवायों का  ुष्क बाय 
30 श्क्वॊटर औय उऩिारयत बूखण्ड भें 15 श्क्वॊटर/है.  है, तो 
खयऩतवाय ननमॊत्रण दऺता (%) ककतनी होगी ? 15 30 45 50

25

महद एक भदृा श्जसका आबासी घनत्व 1.5 भेगा ग्राभ/घन 
भीटय औय कण घनत्व 2.5 भेगा ग्राभ/घन भीटय है तो उस 
भदृा की प्रनत त सयन्रता क्मा होगी ? 30% 40% 50% 60%

26

बायतीम कृवर् प्रणारी अनुसॊधान सॊस्थान (IIFSR)  ककस श्जरे 
भें श्स्थत है :- झाॊसी भेयठ गाश्जमाफाद  ोराऩुय

27

अन्त: सस्म ऩद्धनत के ननधारयण हेत ुननम्नाॊककत सूिकों भें 
से कौनसा उऩमोग ककमा जाता है ? ऩणर ऺेत्र सूिकाॊक प्रका  उऩमोग दऺता बू तुल्म अनुऩात हटकाऊऩण सूिकाॊक

28 ककसी पसर की साऩेऺ वदृ्चध दय की इकाई है :- ग्राभ/भी.² (ऩणर ऺेत्र)/ हदन ग्राभ/ग्राभ/ हदन ग्राभ/भी.² (बू ऺेत्र)/ हदन ग्राभ/ हदन
29 ऩौधों की तीव्र फढवाय वारी अवस्था कहराती है :- ववरम्फ अवस्था जयावस्था ऩठाय अवस्था रॉग अवस्था

30 ननम्नाॊककत भें से अनुचित जोड़ी का िमन कये :-

पसर की अच्छी फढ़वाय - 

नत्रजन उवरयक प्रमोग भें 
राना

तम्फाकू भें "टॉऩ ससकनेस" 

को सही कयना - फोयोन 
उवरयक प्रमोग भें राना

गुणवत्ता उत्ऩाद - ऩोटा  
उवरयक प्रमोग भें राना

भूॊगपरी भें ऩीराऩन दयू 
कयना - जस्ता उवरयक 
प्रमोग भें राना

31

ननम्नाॊककत पसरों भें से कौनसी पसर ऺायीमता के प्रनत 
अचधक सहन ीर है ? ज्वाय भूॉगपरी िावर सयसों

32 सोमाफीन की उत्ऩवत्त ककस दे  से हुई है ? िीन बायत ब्राज़ीर भैश्क्सको

33

पसर की ककस्भ औय उसके 1000 दानों के वजन के एक 
सही सॊमोग का िमन कये :- गेहूॊ (HI 8498) - 35 g िना (KAK -2) - 380 g याजभा (Udai) - 500 g भूॊगपरी (TAG -24) - 250 g

34

यफी पसरों भें ऩारे के ननमॊत्रण हेत ुप्रनत हेक्टेमय 1000 

रीटय ऩानी के नछडकाव हेत ुगॊधक के तेज़ाफ की ककतनी 
भात्रा की आवचमकता होगी ? 100 ml 500 ml 1000 ml 1500 ml

35 गेहूॉ के आद र अॊकुयण हेत ुइष्टतभ ताऩभान येंज है :- 5-10 °C 10-15 °C 20-25 °C 30-35 °C

36

ननम्नाॊककत पसरों भें से कौनसी एक पसर "नतरहनों की 
यानी" कहराती है ? सोमाफीन यामा सूयजभुखी नतर

37

अच्छी गुणवत्ता की तम्फाकू के सरए ऩवत्तमों भें क्रोरयन का 
अॊ  कबी बी इससे ज्मादा नहीॊ होना िाहहए :- 2% 3% 4% 5%

38

10 Kg  रुआभॊम कऩास के फीज को तन्तुहीन कयने हेत ु
औद्मोचगक शे्रणी के गॊधक के तेजाफ की आवचमकता होती 
है :- 500 ml 1000 ml 1500 ml 2000 ml

39 रार सडन इस पसर की एक भहत्वऩूणर त्रफभायी है :- आरू की िकुन्दय की गन्ना की भक्का की

40

______ पसर का तेर व्माऩक रूऩ से प्ररेऩ औय वाननर  
उद्मोग भें उऩमोग ककमा जाता है नतर कुसुभ यतनजोत अरसी

41

महद ककसी पसर की प्रनत हेक्टेमय ऩौध सॊख्मा 50,000 

ऩरयऺण बाय 200 ग्राभ तथा फीजों का वास्तववक भान 100 

प्रनत त है तो एक हेक्टेमय ऺेत्र के सरए फीज की आवचमक 
भात्रा होगी :- 10 Kg 20 Kg 30 Kg 40 Kg

42 ववियण - गुणाॊक (CV%) का इस सूत्र से ऩरयगणन कयत ेहै :- (भाध्म/भानक वविरन) X 100

(भानक वविरन/भाध्म) X 

100 भानक वविरन/भाध्म भाध्म/भानक वविरन



43 अनतरघु जर ग्रहण ऺेत्र का आकाय होता है :- 10,000 - 50,000 हेक्टेमय 1000 - 10,000 हेक्टेमय 100 - 1000 हेक्टेमय 10 - 100 हेक्टेमय

44 खेतों भें िहूों के त्रफरों का प्रधभून ____ से ककमा जाता है :- श्जॊक पॉस्पाइड एल्मुसभननमभ पॉस्पाइड श्जॊक सल्पेट श्जॊक पॉस्पेट
45 याजस्थान के ककस श्जरे भें जाखभ फाॉध श्स्थत है :- जमऩुय टोंक दौसा प्रताऩगढ़

46

कृवर् भात्र पसर उगाना ही नहीॊ है फश्ल्क एक प्रामोचगक 
ववऻान है :- ऩारयश्स्थनतकी तॊत्र वातावयण ऩारयश्स्थनतकी जरवामु

47

ककस कायण से हभ गेहूॉ को  ीत ऋत ुभें भैदानी बाग व 
ग्रीष्भ ऋत ुभें ऩहाड़ी बाग भें उगाते हैं :- ऊॉ िाई ताऩभान दृचम सौन्दमर पसर िक्र

48 वर्ार ऩहाड़ों की ककस हद ा भें सवारचधक होती है :- वामु की हद ा की ओय वामु की हद ा के ववऩयीत दोनों ओय ककसी एक तयप
49 ऩहाड़ों की तरहटी की भदृामें होती हैं :- ववकससत अववकससत ऩूणर ववकससत इनभें से कोई नहीॊ
50 ऩूणर अऩवाहहत ज्वाराभुखी ऺेत्रों की भदृाएॉ होती है :- फहुत उऩजाऊ कभ उऩजाऊ अनुऩजाऊ फेकाय

51

ताऩक्रभ का सीभान्तय से तात्ऩमर उस त्रफॊद ुसे है जहाॉ से 
उद्दीऩन :- अकक्रम होता है अल्ऩ प्रनतकक्रमा ऩूणर प्रनतकक्रमा प्रनतकक्रमा प्रायम्ब होती है

52 ढारू बूसभमों के सरए सवोत्तभ ससॊिाई ववचध है :- फूॊद-फूॊद क्मायी ववचध पव्वाया सतह अऩवाह

53
 ून्म जुताई/ कर्रण से तात्ऩमर है :- भदृा अऩवाह योकना जर अऩवाह योकना जर ननस्ऩन्दन योकना भदृा अऩयदन योकना व 

सभुच्मन भें वदृ्चध

54 जरवामु ऩरयवतरन का अथर है :- दैननक भौसभ भें ऩरयवतरन
साप्ताहहक भौसभ भें 
ऩरयवतरन

भाससक भौसभ भें 
ऩरयवतरन

रम्फे सभम (>30 वर्ो) के 
भौसभ भें ऩरयवतरन

55 ग्रीन हाउस प्रबाव का सॊफॊध है :- ताऩभान भें वदृ्चध वर्ार भें वदृ्चध अवऺेऩण भें वदृ्चध वर्ार भें देयी
56 ऩौधों भें एफससससक अम्र की बूसभका है :- वदृ्चध फढ़ाना वदृ्चध अवयोधक कोस का रम्फन अचधक  ाखाएॊ

57

वदृ्चध ननमाभक साइकोससर के प्रमोग ऩरयणाभस्वरूऩ होता 
है :- वदृ्चध अवयोध परन अवयोध ऩुष्ऩन अवयोध जड़ स्पुटन अवयोध

58 ऩौधों की साऩेऺ वदृ्चध दय से असबप्राम है :- सभम के अचधक उऩज सभम के प्रनत उऩज
सभम के प्रनत अचधक 
वदृ्चध सभम के प्रनत वदृ्चध

59 ऩानी का घनत्व ______ °से. ताऩक्रभ ऩय सवारचधक होता है :- 0.0 2.0 4.0 8.0

60 सभताऩ भॊडर भें ताऩभान का ऩयार् है (°C) -10 to -19 °C -45 to -75 °C -60 to -85 °C -80 to -95 °C

61

सी₃ ऩौधे 40,000 से 50,000 रक्स तक के प्रका  को उऩमोग 
भें रेने की ऺभता यखत ेहै जफकक सी₄ ऩौधों की ऺभता है :- 50,000-60,000 60,000-70,000 70,000-80,000 90,000-100,000

62

ताज़ा/ भीठा ऩानी के जरा म श्जनभें कक नहदमाॉ बी 
सश्म्भसरत है, कहराते है :- रैंहटक रोहटक रोहटक अथवा येवेयाइन ऩारुस्ट्राइन

63 प्माज भें तीखाऩन व गॊध का कायण होता है :- नत्रजन फ़ॉस्फ़ोयस ऩोटेस मभ सल्पय/गन्धक

64

अननवामरता भानदण्ड के आधाय ऩय ऩोर्क तत्व की 
अनुऩश्स्थनत भें :-

ऩौधे अऩना जीवन िक्र ऩूया 
नहीॊ कय सकते

ऩौधे जीवन िक्र ऩूया कय 
सकते है ऩौधे उग नहीॊ सकते

ऩौधे अच्छी तयह उग 
सकते है

65 स्वतॊत्र-जीवी नाइट्रोजन मौचगकीकायक है :- याइजोत्रफमा अजोटोवेक्टय अजोस्ऩाइरयरभ
अजोटोवेक्टय एवॊ 
अजोस्ऩाइरयरभ दोनों

66

भदृा भें फ़ॉस्फ़ोयस की उऩरब्धता इस ऩी.एि ्भान से फढ़ने 
रगती है :- >8.0 >8.2 >8.4 >8.5

67

अम्रीम भदृाओॊ भें इस ऩी.एि भान के नीिे फ़ॉस्फ़ोयस 
श्स्थय होने रगता है :- 7.0 7.5 6.5 3.5

68 भदृा नभी को इसके द्वाया भाऩा जा सकता है :- वऩक्नोभीटय भोइस्िय भीटय बायात्भक भाऩ
भोइस्िय भीटय एवॊ 
बायात्भक भाऩ दोनों

69

सूक्ष्भ ऩोर्क तत्वों की उऩमोग दऺता सवारचधक होती है जफ 
इनका प्रमोग ककमा जाता ___ है :- पव्वाया द्वाया ऩणीम नछडकाव भदृा प्रमोग फूॊद-फूॊद ससॊिाई के साथ

70 सूक्ष्भ ससॊिाई ववचध का ऺेत्रपर ककस प्रदे  भें सवारचधक है :- त्रफहाय उ.प्र. याजस्थान केयर

71 फीजीम भसारों भें सवारचधक रवणता सहन ीर पसर है :- धननमाॉ जीया सौंप भैथी

72 रवणीम भदृाओ को इस ववचध द्वाया सुधाया जा सकता है :- ननस्ऩन्दन ववचध श्जप्सभ का प्रमोग ऩाइयाईट का प्रमोग गॊधक प्रमोग
73 सॊकयी ऩत्ती के खयऩतवाय का उदाहयण है :- अभैयैन्थस आयजीभौन पेरेरयस िीनोऩोडडमभ

74 कभर जैसे खयऩतवाय के फीजों की जीवन ऺभता यहती है :- 10 वर्र 100 वर्र 1000 वर्र इनभे से कोई नहीॊ

75 ननम्न भें से कौनसा सवाांगी खयऩतवाय ना ी नहीॊ है :- अट्राश्जन ससभेश्जन प्रोऩेननर ऩैयाक्वाट

76

ननम्न भें से कौनसा कपनौक्सी सभूह का खयऩतवाय ना ी 
नहीॊ है :- 2,4-डी 2,4-डी फी एभ.सी.ऩी.ए. 2,3,6 टीफीए

77 अॊकुयण-ऩचि खयऩतवाय ना ी प्रमुक्त होता है :- पसर उगन ेसे ऩूवर खयऩतवाय उगने से ऩूवर पसर उगने के उऩयान्त खयऩतवाय उगने के उऩयान्त

78

भदृा भें ननस्ऩन्दन हानन को योकने के सरए 2,4, - D सोडडमभ 
रवण का प्रमोग ननम्न भें से ककस भदृा भें नहीॊ कयना 
िाहहए :- फरुई दोभट चिकनी दोभट चिकनी

79

एक ननश्चित सभम भें ककस सस्म प्रणारी से सवारचधक 
पसरें एक ही खेत से री जा सकती है :- सभचश्रत पसर प्रणारी रयरे प्रणारी

सभचश्रत पसर प्रणारी 
एवॊ अॊत: पसरीकयण अॊत: पसरीकयण

80

 ुष्क कृवर् से असबप्राम है, जहाॉ वर्ार की भात्रा ननम्न भें से 
कभ होती है :- 550 mm 650 mm 750 mm 850 mm

81

नभी के अबाव भें ऩौधों भें प्रका   सॊचरेवर्त ऩदाथों की 
भात्रा ____  :- घटती है फढती है श्स्थय यहती है साभान्म यहती है
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82 पसरों द्वाया सूखे से फिाव का अथर है :-

वर्ार के सभम भें ही 
ऩरयऩक्व हो जाती है जल्दी उगती है देय से ऩकती है वर्ार उऩयान्त ऩकती है

83

सूखा की अवस्था भें ससकुट (नतकुट) वारी ककस्भों भें ससकुट 
से प्रका  सॊचरेवर्त ऩदाथर का अॊ दान होता है :- 12% 10% 20% 50%

84 भदृा भें जर ननस्ऩन्दन से असबप्राम है :- भदृा भें जर सॊिरन भदृा भें जर प्रवे अॊत:स्रवन ननऺारन
85 प्रताऩ (C-50) ककस पसर की ककस्भ है :- गेहूॉ नतर सौआ (हदर) भक्का

86 कभ नभी की द ा भें कौनसी पसर सवारचधक अनुकूर है ? धान भक्का गेहूॉ नतर

87

भदृा उवरयता भें ऩरयवतरन की द ा भें कौनसी प्रऺेत्र प्रमोग 
डडज़ाइन उऩमुक्त है ? सी.आय.डी. आय.फी.डी. श्स्प्रट प्राट ऩेमयड यो

88

फहुत से कायकों का एक साथ अध्ममन कयने के सरए कौन 
से प्रऺेत्र प्रमोग डडज़ाइन सवोत्तभ है :- फी.आय.डी. आय.फी.डी. सी.आय.डी. श्स्प्रट प्राट

89

एक कायक जफ दसूये कायक ऩय ननबरय कयता है उसकी 
गणना इस ववचध से कयत ेहै :- स्टूडेंट टी टेस्ट भाध्म सह सॊफॊध हयात्भक भाध्म

90 बायत ककतने सस्मऩारय उऩऺेत्र भें ववबक्त है :- 20 30 50 60

91

आधनुनक आकरन के आधाय ऩय याजस्थान के फीकानेय व 
जैसरभेय को ककस सस्म जरवामवीम ऺेत्र भें ननरुवऩत ककमा 
गमा है :- I A II A I C II C

92 ससॊिाई भें डले्टा ककस इकाई भें भाऩा जाता है :- से.भी. घॊटे क्मूसेक री./से./है.

93

भरुस्थर व  ुष्क बूसभ प्रफॊधन का अध्ममन ककस ववऻान 
के अॊतगरत ककमा जाता है :- ऩारयश्स्थनतकी  ुष्क ऺेत्र कृवर् जीयोकपक साइॊस ऐयेभोरोजी

94

सस्म पसरो भें यासामननक नछडकाव के सरए हवा की 
सीभान्स्तय गनत है :- < 1 km/h < 2 km/h < 3 km/h < 4 km/h

95 भश्ल्रका कौनसी पसर की ककस्भ है :- खेजड़ी फफूर भूॊगपरी उड़द

96 खयऩतवाय सूिकाॊक की गणना की जाती है :-

[ (खयऩतवाय भुक्त पसर 
की उऩज - उऩिारयत खेत 
की पसर की उऩज) / 

(खयऩतवाय भुक्त पसर की 
उऩज) ] X 100

[ (खयऩतवाय भुक्त पसर 
की उऩज - उऩिारयत खेत 
की पसर की उऩज) / 

(उऩिारयत खेत की पसर 
की उऩज) ] X 100

[ (उऩिारयत खेत भें 
खयऩतवाय की  ुष्क 
भात्रा - खयऩतवाय भुक्त 
खेत भें खयऩतवाय का 
 ुष्क बाय) / (उऩिारयत 
खेत भें खयऩतवाय की 
 ुष्क भात्रा) ]  X  100

[ (उऩिारयत खेत भें 
खयऩतवाय की  ुष्क भात्रा - 

खयऩतवाय भुक्त खेत भें 
खयऩतवाय का  ुष्क बाय) / 

(खयऩतवाय भुक्त खेत भें 
खयऩतवाय का  ुष्क बाय) ]  

X  100

97

अखखर बायतीम प्रिण्ड सूखा वर्र घोवर्त ककमा जाता है, जफ 
सुखा-छाहदत ऺेत्र ____ से अचधक होता है :- 20% 40% 60% 80%

98 भनुष्म भें सेसरक त्रफभायी का कायण है :- ग्रुहटन ऐरजी ट्रप्टोपेन ऐरजी राइससन ऐरजी जेएन ऐरजी
99 कौनसी भक्का प्रािीन प्रकाय की है :- श््रॊट भक्का भीठी भक्का ऩोडकानर भोभी भक्का

100

धान की पसर भें ककस प्रकाय के नत्रजन उवरयको को 
उऩमोग भें नहीॊ रेना िाहहए :- नाइटे्रट अभोननकर अभाइड साइनेभाइड


